# The Effectiviness of Organic Method for Increasing the Productivity of Oil Palm That Is Infected by Ganoderma

Supeno Surija<sup>1</sup> & Roderick Bastian<sup>1</sup>

<sup>1</sup> Plantation Key Technology Research Centre, Medan, Sumatera Utara, Indonesia

Correspondence: Supeno Surija, Plantation Key Techonology Research Centre, Medan, Sumatera Utara, Indonesia. Tel: 62-811-615-525. E-mail: supenosurija@pkt-group.com

Received: February 4, 2020	Accepted: March 5, 2020	Online Published: April 15, 2020
doi:10.5539/jas.v12n5p180	URL: https://doi.org/10.553	9/jas.v12n5p180

## Abstract

The usage of organic fertilizer is expected to help developing organic plantation so that it can produce organic CPO and other organic derivate. Our study used organic fertilizer SUPER MOAF (Multi Organic Alkali Fertilizer), biopesticide and biofungiside CHIPS (Colony Highly Invasive Protection System) that is manufactured by PT. Propadu Konair Tarahubun. We conducted this study in 7 different plantation: Kecamatan Langgam, Riau block K and L with the plantation year of 2011; Kecamatan Bila Hilir, North Sumatra block DO and CO with the plantation year of 2011; Kecamatan Langgam, Riau block J and I with the plantation year of 2010; Kecamatan Long Iklis, East Kalimantan block 26 and 27 with the plantation year in 2002; Kecamatan Sei Kijang, Riau block M12 and N12 with the plantation year of 2005; Kecamatan Langgam, Riau block F and H with the plantation year of 2009; Kecamatan Teluk Dalam, North Sumatra block R and M with the plantation year of 2006. All plantation is given the same treatment: nonorganic fertilizer in control block (L, CO, I, 27, N12, H, and M) and switching from using Non-organic fertilizer to MOAF organic fertilizer in experiment block (K, DO, J, 26, M12, F, and R), this study is conducted for 4-5 years (2014-2018). The switching from nonorganic fertilizer to organic fertilizer is done in 2015, except for the oil palm that the plantation year is in 2011 is done in 2016. After switching from Non-organic to organic fertilizer, in the experiment blocks, show increasing of production (26.47%-88.33%) per Ha meanwhile the control block show increasing of production (4.21%-38.76%) per Ha. Fertilizer is given to the tree that has infected by disease, damaged, and have to be replanted because of Ganoderma invasion. Using MOAF organic method can also increase the production approximately 64.34%-110.77% from PPKS production standard in palm oil that has been infected by Ganoderma. Using MOAF fertilizer, biopesticide, and biofungiside CHIPS are not only recovering the palm oil that is expected to collapse soon because of Ganoderma infection but also maximize the production that is similar to healthy palm oil. Organic method is an efficient and effective way to help increasing the production of palm oil and environmental sustainability even in Ganoderma infection condition.

Keywords: oil palm, organic method, organic fertilizer, Ganoderma

## 1. Introduction

Oil Palm (*Elaeis guineensis* Jacq.) is one of plant in Indonesia that has a good prospect. Orginally from North Sumatra and Nanggroe Aceh Darussalam, oil palm has spread widely through many regions in Indonesia including Riau, Jambi, South Sumatera, Bengkulu, Lampung, West Java, West Kalimantan, Central Kalimantan, Sulawesi, and Papua (Sunarko, 2012). With 75% of plantation company and CPO production is in Sumatera and Kalimantan (Anonymous, 2014). Oil palm plantation in Indonesia has grown rapidly and since 1939, Indonesia has been the largest producer and exporter in the world (Prayitno et al., 2008), serving half of the world commodities (FAOSTAT, 2015) and producing 80% of global production together with Malaysia (Pittman, 2013). Palm oil production is use in food industry, chemical industry, and a substitute for fuel. Indonesia is the largest producer of oil palm. (Dirjenbun, 2015), with plantation area of 12,307,677 ha in 2017 and palm oil production that reach 35,359,394 ton/year and carnel oil production of 7,071,877 ton/year (Dirjebun, 2018).

The main obstacle in oil palm plantation in Indonesia is the low productivity and the quality of oil palm (Dirjenbun, 2014). The expansion of the plantation area often do not compensate with the productivity, one of the reason is the soil condition that is not compatible of using nonorganic fertilizer. Recently, Ministry of Agriculture has started to direct an environment friendly plantation concept (Gingold, 2012). The other obstacles

in increasing oil palm production is the disease that infected the stem root (*Ganoderma boninense*) (Susanto, 2002). This infection can directly cause the loss of palm oil production and lower the weight of fresh fruit bunches (Susanto, 2005).

Maintenance is one of the most important factor to high productivity and fertilizer play important role in it. Fertilization given has to ensure the vegetative and generative growth to be normal so that production of fresh fruit bunches (FFB) is optimal and high quality and quantity of palm oil can be produced (Adiwiguna, 2007). Organic fertilizer has the benefit such as environment friendly, abundant nutrient content, and make good impact in growth and the productivity of oil palm (Mawardi et al., 2012). Fertilization effectiveness is directly link to the amount of nutrient that can be absorbed and fertilization is considered effective if it increases production (Tarigan, 2013). Thus, the aim of the research is to make known of the effectiveness of organic method in increasing production and the ability of organic method to help the survival of oil palm while infected by Ganoderma.

#### 2. Material and Method

#### 2.1 Materials

This study is conducted in 14 block of area of 7 different oil palm plantation that located in multiple regions in Indonesia with the area total of 33.93 Ha and block L (control) with the area of 31.95 ha located in Kecamatan Langgam, Riau, plantation year of 2011, using DxP Malaysia seeds. Block DO with 34.32 Ha and block CO (control) with 38.29 Ha located at Kecamatan Bila Hilir, North Sumatra, plantation year of 2011, using DxP Sucfindo seeds. Block J with 43.66 Ha and Block I (control) with 40.53 Ha located at Kec. Langgam, Riau, plantation year of 2010, using DxP Malaysia seeds. Block 26 with 43.76 Ha and Block 27 (control) with 44 Ha located at Kecamatan Long Iklis, East Kalimantan, plantation year of 2002, using DxP PPKS seeds. Block M12 with 22.65 Ha and block N12 (control) with plantation year 22.07 Ha located in Kec. Sei Kijang, Riau, plantation year 2005, using DxP Marihat seeds. Block F with 21.20 Ha and block H (control) with 27.11 Ha located in Kec. Langgam, Riau, plantation year 2009, using DxP Malaysia seeds. Block R with 35 Ha and block M (control) with 34.9 Ha located at Kec. Teluk Dalam, North Sumatra, plantation year 2006, using DxP Marihat Seeds.

## 2.2 Fertilization, Dosage, and Type of Nonorganic Fertilizer and Chemical Pesticide (Control Block)

Nonorganic fertilizer given in each control block is made of the combination of different type of nonorganic fertilizer and dosages. Fertilization in done twice per year, the first fertilization is done in early rainy season between September to November and the second fertilization is done in the end of rainy season between March to April.

No	Location	Fertilizer Type	Dosage (Kg/Tree/year)
		Urea	3.80
1		Rock Phosphate	1.58
1	Kec. Langgam, Riau	KCL/MOP	3.75
		Kieserit	0.33
	Kec. Bila Hilir, Sumatra Utara Kec. Langgam, Riau Kec. Long Iklis, Kalimantan Timur	Boron	0.08
		Urea	2.75
2		KCL/MOP	2.75
	Kaa Dila Hilir Sumatra Utara	Borate	0.20
	Kec. Bha mini, Sumaria Utara	Rock Phosphate	2.00
		kieserit	1.75
		Ostindo	1.00
		Urea	2.50
3	Kec. Langgam, Riau	Rock Phosphate	1.50
		KCL/MOP	3.00
		Dolomit	1.50
		CuSO <sub>4</sub>	0.02
		Fe	0.02
1	Kaa Long Iklig Kalimantan Timur	NPK Hi-Grade	5.00
4	Kee. Long Ikns, Kanmantan Timui	Dolomit	4.00
		Urea	2.50
5	Kas Cailiana Dian	Dolomit	3.00
3	Kec. Sei kijang, Kiau	NPK Hi-Kay	6.50
		Juhar	2.00
		Urea	2.00
		Rock Phosphate	2.50
6	Kec. Langgam, Riau	KCL/MOP	2.50
		Kieserit	1.00
		Borax	0.075
		Urea	3.50
		KCL/MOP	2.75
7	Kec. Teluk Dalam, Sumatra Utara	Dolomit	3.25
		Rock Phosphate	1.50
		Borax	0.05

Table 1. Type of nonorganic fertilizer used in each plantation

## 2.3 Dosage, and Type of Organic Fertilizer, Biopesticide, and Biofungiside CHIPS (Control Block)

MOAF organic fertilizer, biopesticide, and biofungiside CHIPS is using the same dosages, type of fertilizer, and biopesticide in each area. Fertilization is done once per year.

Table 2. Organic fertilizer and Biofungiside used in each plantation

No	Fertilizer Type	Dosage (Kg/Tree/Year)	Biopesticide and Biofungiside Type	Dosage (Kg/Tree/Year)
1	Super MOAF 1	2.00		
2	Super MOAF 2	2.00	CHIPS 2.1	3.00
3	Super MOAF 3+	2.00		

## 2.4 Switching From Nonorganic Fertilizer to Organic Fertilizer

Switching from nonorganic to organic fertilizer MOAF is to measure the increase in the production using organic method. The switching is done from 2015 to 2018 for oil palm plantation with the plantation year of 2011, as for oil palm with the plantation year of 2002, 2005, 2006, 2009, and 2010 is done from 2014 to 2018. Switching to organic fertilizer MOAF is not done simultaneously because of the difference of plantation year of the oil palm that is used in this study. Moreover, oil palm starts to produce from the third year, so switching to organic fertilizer MOAF is done in 2015 to clearly see the changes in production.

## 2.5 Data Analysis Method

Data of fresh fruit bunches production is being collected every year. Then, data is analyzed using T dependent test.

#### 3. Result and Discussion

After application of MOAF organic fertilizer in the block that previously used nonorganic fertilizer, show increasing in productivity compared to the block that continue using nonorganic fertilizer. Study is done in oil palm, plantation year 2011, using organic fertilizer MOAF from 2015 to 2018, meanwhile oil palm with plantation years 2002, 2005, 2006, 2009, and 2010, using organic fertilizer MOAF from 2014 to 2018. Fertilization during production period is to fulfill nutrient need so that production of fresh fruit bunches is optimal and increase immunity to pest and disease. Four significant steps in fertilizer and dosages given have to consider several factors such as: leaf analysis, age of the plant, physical condition, soil, climate, cost, and production target (Sunarko, 2012).

Ne	Lasstian	Dlask	Luca (IIc)	Diantation	Cooda Tranco	FFB (Kg/Ha/Year)					
INO	Location	BIOCK	Luas (Ha) Flantation year		Seeds Type	2014	2015	2016	2017	2018	
1	Kas Langgam Diau	Κ	33.93	2011	DuD Malazaia	-	6.803	12.812	15.130	21.858	
1	Kec. Langgam, Klau	L (K*)	31.95	2011	DXP Malaysia	-	8.145	9.397	12.873	16.921	
2	Kaa Dila Hilin Sumatra Harra	DO	34.31	2011	DxP Sucfindo	-	8.384	14.928	20.393	25.478	
2	Kec. Bha Hinr, Sumatra Otara	CO (K*)	38.29	2011		-	6.668	9.319	14.638	21.236	
2	Kas Langgam Diau	J	43.66	2010	DuD Malausia	6.400	10.304	13.941	19.798	24.450	
3	Kec. Langgam, Kiau	I (K*)	40.53	2010	DXF Walaysia	6.240	8.085	9.520	12.100	13.475	
4	V I III: V.I Time	26	43.76	2002	DxP PPKS	15.833	20.067	21.250	22.150	23.100	
4	Kec. Long Iklis, Kalimantan Timur	27 (K*)	44.00	2002		16.206	17.545	18.933	19.000	19.390	
e.	Kee Cei Kiine Die	M12	22.65	2005	D-DM-silest	14.768	19.099	20.272	21.323	23.400	
3	Kec. Sel Kijang, Klau	N12 (K*)	22.07	2005	DXP Marinat	16.870	17.580	17.741	18.700	20.820	
~	K I D'	F	21.20	2000		8.120	14.091	19.024	21.107	23.233	
6	Kec. Langgam, Kiau	H (K*)	27.11	2009	DXP Malaysia	9.894	13.658	16.101	17.305	18.742	
-		R	35	2006		11.700	19.500	20.650	22.112	23.900	
/	Kec. Teluk Dalam, Sumatra Utara	M (K*)	34.90	2006	DxP Marihat	12,600	15.500	17.230	18.417	20.298	

Table 3. Fresh Fruit Bunches Production from 2014-2018

*Note.* K\* = Control Block; Study that is done in oil palm that is infected by Ganoderma; Oil palm with plantation year 2011, study is done in 2015; Control block: 2015-2018, using nonorganic fertilizer; Experiment block: 2015, using nonorganic fertilizer and 2016-2018, using MOAF fertilizer; Oil palm with plantation year 2002, 2005, 2006, 2009, and 2010, study started from 2014; Control block: 2014-2018, using nonorganic fertilizer; Experiment block: 2015, using monorganic fertilizer.

After root analysis, size and shape of the fertilizer is adjusted so that it is easier to be absorbed. Dosage that is given is lower than the one in nonorganic fertilizer. Organic fertilizer MOAF is environment friendly because it does not cause chemical reaction that can damage soil, plant, and flora normal, moreover, it does not contain harmful chemical substances, prolong plantation age, and increase production of oil palm.



Figure 1. FFB production: Aa = block K and L in i Kec. Langgam, Riau; Bb = block DO and CO in Kec. Bila Hilir, North Sumatra; Cc = block J and I in Kec. Langgam, Riau; Dd = block 26 and 27 in Kec. Long Iklis, East Kalimantan; Ee = block M12 and N12 in Kec. Sei Kijang, Riau; Ff = block F and H in Kec. Langgam, Riau; Gg = block R and M in Kec. Teluk Dalam, North Sumatra

Application of nonorganic fertilizer and organic Fertilizer MOAF has a different impact in oil palm productivity. With organic fertilizer MOAF, during the study, show differences in production to more than 5000 kg/ha/year compared to nonorganic fertilizer with the same area and plantation year. The significant differences in the production is because using organic fertilizer can increase nutrient originally from soil that directly link to C-organic contents in the organic fertilizer so adequate nutrient can be absorbed by the plant. Usage of organic material is one the way to increase the oil palm production. Moreover, organic material can neutralize organic acid that is toxic, increasing pH, maintaning growth, and increasing the production of oil palm (Mawardi et al., 1999). Moreover, high N elemental content show influences in increasing the amount of leaves so that photosynthesis is optimal (Elisabeth et al., 2014). Pahan (2008) stated that good fertilizer must have main nutrient content, additional nutrient, how the fertilizer react with soil, and fertilizer sensitivity to weather. MOAF fertilizer has a criteria to be a good organic fertilizer. Acccording to FAO (1994) criteria of an organic fertilizer are:

- Minimum N content: 1-4%
- Minimum P content: 1.5-3%
- Minimum K content: 1.00-1.5%
- Total organic must at least 20% or more
- C/N ratio: 10:1 to 15:1
- pH: 6.5 to 7.5
- Odorless
- Do not contain non-biodegradable substances such as glass, metal
- Color: varies
- Texture: varies
- Pathogen-free

Main purpose of fertilization is to ensure optimal nutrient to support the growth of the plant so increasing in the production can be obtained. Efficient way of fertilization is that to give the exact size and dosage of fertilizer, the right way, and in the right time according to the need and the growth spurt of the plants (Tarigan, 2013). In this case, organic fertilizer MOAF have Smart Response technology, which it is prepared to cooperate with the roots and easily absorbed by the root, moreover, this technology can actively response to the need of the plants do that it can control the nutrient released. Auto Adapt Release technology, where nutrient released is based on weather-control, so at the drought season, nutrition can be released optimal and during rainy season, nutrition is not over released (Wigena, 2009).



Figure 2. Comparison of productivity after switching to organic fertilizer MOAF with control block: a = Kec. Langgam, Riau block K and L, b = Kec. Bila Hilir, North Sumatra, block DO and CO, c = Kec. Langgam, Riau block J and I, d = Kec. Long Iklis, East Kalimantan block 26 and 27, e = Kec. Sei Kijang, Riau block M12 and N12, f = Kec. Langgam, Riau block F and H, g = Kec. Teluk Dalam, North Sumatra block R and M

After switching to organic fertilizer, show increasing in production to 88.3%. The breakdown of every area was: Kec. Langgam, Riau in 2016 block K was 88.33% while in block L was 15.37%; Kec. Bila Hilir, North Sumatra in 2016 blok Do was 78.05% while in block CO was only 39.76%; Kec. Langgam, Riau in 2015 block J was 61.00% while in block I was only 29.57%; Kec. Long Iklis, East Kalimantan in 2015 block 26 was 26.74% while in block 27 was only 8.26%; Kec. Sei Kijang, Riau in 2015 block M12 was 29,33% while in block N12 was only 4,21%; Kec. Langgam, Riau in 2015 block F was 73.53% while in block H was only 38.04%; Kec. Teluk Dalam, North Sumatra in 2015 block R was 66.67% while in block M was only 23.02%. Increasing in production in each area were significantly high, it showed that organic fertilizer MOAF can maximize the productivity of palm oil although the condition itself is not that good. According to Winarna (2009), one of the ways to increase effectiveness and efficiency is to continue fertilization and accurate choices of fertilizer type and dosage such as organic fertilizer is to be made (Wigena, 2009). Accurate fertilization can ensure the sufficient and the balance in oil palm nutrient so that it can produce optimal fresh fruit bunches and good quality of oil. Organic material can repair the physical, chemical, and biological of soil, moreover it can increase the capacity of water, cation exchange capacity, porocity, pH, and it can help to trigger the growth of microorganism in soil (Leszczynska & Malina, 2011).

The highest increasing productivity was found in palm oil with plantation year of 2011 in Kec.langgam, Riau: block K has increasing productivity that reaches 88.33% and in Kec. Bila Hilir, North Sumatra block DO has increasing productivity that reach 78.05%. Meanwhile, the lowest increasing productivity was found in palm oil with plantation year of 2002 in Kec. Long Iklis, East Kalimantan, block 26 (26.74%), palm oil with plantation year of 2005, and in Kec. Sei Kijang, Riau block M12 (29.33%). However, increasing in production is still higher than the area that uses nonorganic fertilizer, in Kec. Long Iklis, East Kalimatan, block 27 (8.28%) and in Kec. Sei Kijang, Riau, block N12 (4.21%). In order to reach such high productivity, nutrient such as N, P, K, Mg, and B are needed in most soil (Ng, 1997). Deficiency of this nutrient can lower the production (Woittiez et al., 2017), but nutrient criteria and end production depend on the type of soils (Goh, 2005) and plants necessity (Ollivier et al., 2017).

Low increasing productivity in Kec. Long Iklis, East Kalimantan and Kec. Sei Kijang, Riau was caused by soil saturation that is linked to nonorganic fertilizer that has been given for years. Novizan (2001) stated that if nonorganic fertilizer is given continuously, it will have impact in soil fertility because it can damage soil structure, lower the soil pH, disrupt natural organism, and the water quality on the surface. Specifically, soil play important role in the growth of the plants (Greenland & Szaboles, 1994). The main reason how nonorganic fertilizer can damage the soil is the nutrient that is wasted because overdosage of nonorganic fertilizer in given.

According to World Bank (2020), Indonesia plans to double the CPO production to 40 million ton per year and will expand 4 million hectare for plantation area. Expanding the plantation area will have impact in the forest area in Indonesia, it will takeover the primary forest to be palm oil plantation. Organic fertilizer can increase the productivity so it can reach productivity target, preserve soil, and palm oil so it can produce for long time, moreover, it can increase productivity without expanding plantation area so primary forest can still be preserved and ecosystem sustainability can be maintained.

#### Table 4. Nonorganic Fertilizer Price list

No	Location	Fertilizer	Dosage (Kg/Tree/Year)	Price (Rp/Kg)	Fertilizer Costs (Rp)	Total Price (Rp)
		Urea	3.80	5.400	20.520	
	Kas Langeom Diau	Rock Phosphate	1.58	3.000	4.740	
1	Rec. Langgam, Riau	KCL/MOP	3.75	6.700	25.125	52.335
	Block K & L	Kieserit	0.33	3.000	990	
1 K B 2 K B 3 K E 3 K E 5 K E 5 K E 5 K E 6 K		Boron	0.08	12.000	960	
		Urea	2.75	5.400	14.850	
		KCL/MOP	2.75	5.600	15.400	
n	Kec. Bila Hilir, North Sumatra	Borate	0.20	13.000	2.600	55 650
2	Block DO & CO	Rock Phosphate	2.00	3.500	7.000	55.050
		Kieserit	1.75	2.600	4.550	
		Ostindo	1.00	11.250	11.250	
		Urea	2.50	5.400	13.500	
		Rock Phosphate	1.50	7.000	10.500	
2	Kec. Langgam, Riau	KCL/MOP	3.00	8.000	24.000	52 (80)
3	Block J & I	Dolomit	1.50	2.800	4.200	32.080
		$CuSO_4$	0.02	12.000	240	
		Fe	0.02	12.000	240	
4	Kec. Long Iklis, East Kalimantan	NPK Hi-Grade	5.00	8.000	40.000	47 200
4	Block 26 & 27	Dolomit	4.00	1.800	7.200	47.200
		Urea	2.50	5.400	13.500	
5	Kec. Sei Kijang, Riau	Dolomit	3.00	2.800	8.400	60.000
3	Block M12 & N12	NPK Hi-Kay	7.50	5.200	39.000	69.900
		Juhar	2.00	4.500	9.000	
		Urea	2.00	5.400	10.800	
	Kaa Langgam Diau	Rock Phosphate	2.50	3.500	8.750	
6	Rec. Langgain, Kiau	KCL/MOP	2.50	8.700	21.750	46.750
	DIOCK F & H	Kieserit	1.00	4.100	4.100	
		Borax	0.075	18.000	1.350	
		Urea	3.50	5.400	18.900	
	Kas Talul Dalam Marth Sumatur	KCL/MOP	2.75	6.700	18.425	
7	Net. Teluk Dalam, North Sumatra	Dolomit	3.25	2.800	9.100	52.575
	DIUCK K & WI	Rock Phosphate	1.50	3.500	5.250	
		Borax	0.05	18.000	900	

#### Table 5. Organic Fertilizer Price list

No	Location	Fertilizer (Kg/Tree/Year)	Dosage (Kg/Tree/Year)	Price (Rp/Kg)	Fertilizer Costs (Rp)	Total Price (Rp)
		Super MOAF <sup>®</sup> 1	2.00	7.200	14.400	
1	All Research Fields	Super MOAF <sup>®</sup> 2	2.00	7.200	14.400	44.200
		Super MOAF® 3+	2.00	7.700	15.400	

Inspite of damaging soil, nonorganic fertilizer need higher cost than organic fertilizer MOAF, the higher cost of the fertilizer, automatically increase the maintenance cost of the plantation, because 40-60% of the total cost is for fertilizer while 24% of total cost is for plant maintenance (Adiwiganda, 2007). Nonorganic fertilizer tend to has higher maintenance cost so it can lower the plantation profit, while using organic fertilizer MOAF, it has higher productivity with lower maintenance cost, so higher profit for the plantation can be obtained.

#### 3.1 Comparison of Maintenance Cost Using Nonorganic and Organic Fertilizer

No	Activities	Tree/Ha	Norm		Rotation	Total	Price (Rp)	Total Costs (Rp)
1	Fertilization							
	Labor		8.50	WD/Ha	-	1.173	245	287.385
	Urea		1.90	Kg/Tree	2	524	5.400	2.831.760
	Rock Phosphate		1.58	Kg/Tree	1	218	3.000	654.120
	KCL/MOP		1.88	Kg/Tree	2	518	6.700	3.467.250
	Kieserit		0.17	Kg/Tree	2	46	3.000	136.620
	Boron		0.08	Kg/Tree	1	11	12.000	132.480
2	Plant Disk Chemist							
	Labor		0.27	WD/Ha	2	0.53	79.395	42.079
	Primax Herbicide	120	0.45	Liter/Ha	2	0.9	40.712	36.641
	Metafuron Herbicide	138	0.03	Liter/Ha	2	0.051	200.500	10.226
	Clean the Plant Disk		1.64	DW/Ha	2	3.28	79.395	260.416
3	Pasar pikul + TPH							
	Labor		0.21	WD/Ha	3	0.62	79.395	48.828
	Primax Herbicide		0.20	Liter/Ha	3	0.6	40.712	24.427
	Metafuron Herbicide		0.01	Liter/Ha	3	0.03	200.500	6.015
4	Tripe Inter-Row	•						
	Labor		0.44	WD/Ha	3	1.32	79.395	104.801
5	Pruning							
	Labor		75.00	Tree/WD	1	1.84	79.395	146.087
							TOTAL	8.052.515
Prod	uction Result: 9.397 Kg	/Ha						

Tal	ble	6.	Mai	ntenanc	ce cost	t witl	h N	onorganic
-----	-----	----	-----	---------	---------	--------	-----	-----------

#### Table 7. Maintenance cost with organic

No	Activity	Tree/Ha	Norm		Rotation	Total	Price (Rp)	Total Costs (Rp)
1	Fertilization							
	Labor		6	WD/Ha	-	840	245	205.800
	MOAF <sup>®</sup> 1		2	Kg/Phn	1	280	7.200	2.016.000
	MOAF <sup>®</sup> 2		2	Kg/Phn	1	280	7.200	2.016.000
	MOAF <sup>®</sup> 3+		2	Kg/Phn	1	280	7.700	2.156.000
	CHIPS 2.1		3	Kg/Phn	1	420	12.500	5.250.000
2	Plant Disk	-						
	Clean the Plant Disk	140	1.637	WD/Ha	4	6.55	79.395	519.878
3	Pasar pikul + TPH	- 140						
	Labor		0.205	DW/Ha	3	0.62	79.395	48.828
	Primax Herbicide		0.2	Liter/Ha	3	0.6	40.712	24.427
	Metafuron Herbicide		0.01	Liter/Ha	3	0.03	200.500	6.015
4	Tripe Inter-Row							
	Labor		0.44	WD/Ha	3	1.32	79.395	104.801
5	Pruning							
	Labor		75.00	Tree/WD	1	1.87	79.395	148.204
							TOTAL	12.495.954
Prod	uction Result: 12.812 Kg	g/Ha						

Note. WD = Working Days.

High maintenance cost with MOAF method is because of biopesticide and biofungiside CHIPS. Palm oil that is infected by Ganoderma, with the biopesticide and biofungiside CHIPS, prove to be able to control the disease so that palm oil can recover and continue to produce, compared to using chemical pesticide that caused the death of palm oil. High maintenance cost using MOAF method can be compensated with the high production compared

to the production using nonorganic method that tends to lower productivity. Accurate dosage is based on the nutrient balance, so that the nutrient given is not too much and can be used by the plant optimally. Unaccurate dosage not only can cause the growth retardation in the plant but also a waste in labor and cost. Consideration in fertilization is not enough if only considering the soil condition but the principle of the plantation such as accurate dosage, type of fertilizer, and way in giving is important to consider (Ruhnayat, 2007).

The other factor that cause higher maintenance cost is the manual way to clean the plant disk, while non-organic tend to use herbicide. Organic method is done for environment-friendly purpose, as we know that using herbicide can pollute soil, water, air, and even cause disease in labor, moreover, it can also effect consumer from the end-product produced. MOAF fertilizer, biopesticide, and biofungiside do not contain any harmful chemical substances that can cause pollution. Plantation that use organic method in maintenance prove to have higher income that reach 10% compared to using nonorganic method in maintenance, in addition, organic method can ensure quality of the production and maintain the plant to continue grow and produce for longer time.

Na	Landian	Dlask		Diantation Vaan	Tomas of Souda	Produc	tion Perc	entage/P	PKS Stan	dard (%)
NO	Location	BIOCK	(на)	Plantation Year	Types of Seeds	2014	2015	2016	2017	2018
1	Kaa Langgam Diau	Κ	33.93	2011	Dy D Malavaia	-	50.39	80.08	81.78	95.03
1	Kec. Langgani, Klau	L(K*)	31.95	2011	DXF Walaysia	-	60.33	58.73	69.58	73.57
2	Kao Dila Hilin Sumatra Hitara	DO	34.31	2011	DuD Susfie do	-	62.10	93.30	110.23	110.77
2	Kec. Bha Hinr, Sumatra Utara	CO (K*)	38.29	2011	DXP Suclindo	-	49.39	58.24	79.12	92.33
2	J 43.66	DuD Malausia	47.41	64.40	75.36	86.08	95.88			
3	Kec. Langgam, Klau	I (K*)	40.53	2010	DXF Malaysia	46.22	50.53	51.46	52.61	52.84
4	и	26	43.76	2002		56.55	71.67	78.70	85.19	90.59
4	Kec. Long Iklis, Kalimantan Timur	27 (K*)	44.00	2002	DXP PPKS	57.88	62.66	70.12	73.08	76.04
	V G.: V	M12	22.65	2005	D-DM-silet	52.74	68.21	72.40	76.15	83.57
3	Kec. Sei Kijang, Kiau	N12 (K*)	22.07	2003	DXP Marinai	60.25	62.79	63.36	66.79	74.36
	Vee Lemenem Dien	F	21.20	2000	DuD Malausia	50.75	76.17	82.71	82.77	82.98
0	Kec. Langgam, Klau	H (K*)	27.11	2009	DXP Malaysia	61.84	73.83	70.00	67.86	66.94
	K. T.L. D.L. S. C. Martin Harr	R	35.00	2007	DeDMeriket	45.88	69.64	73.75	78.97	85.36
/	Kec. Teluk Dalam, Sumatra Utara	M (K*)	34.90	2006	DXP Marihat	49.41	55.36	61.54	65.78	72.49

Table 8. Production percentage based on PPKS standard

A comparison is made between productivity of oil palm in this study that used organic fertilizer to PPKS production (%), it showed that MOAF fertilizer production was 64.4%-110.77% while u sing nonorganic fertilizer was 45.88-92.33%. Production percentage was higher in using MOAF fertilizer than in nonorganic fertilizer even surpassed the standard production of PPKS. PPKS is research center that have so much contribution in developing palm oil in Indonesia and production based on plantation year is used as a standard in defining success in plantation. The remarkable of using MOAF fertilizer in this study is that the plant condition itself is infected by Ganoderma, did not able to produce, and is to be replanted but using MOAF organic fertilizer combined with biopesticide and biofungiside CHIPS, able to produce well and even equal to healthy palm oil.

Like other plants, palm oil is susceptible to some diseases such as stem rot. Ganoderma infection associated with plantation age has an important role in the productivity, based on the data, the older the plant, the faster the infection spread and affect vegetative and generative growth of palm oil. CHIPS has antagonist agent to Ganoderma that it can inhibit the growth of Ganoderma, moreover it can help the vegetative and generative growth of oil palm.

Stem rot disease cause low production of oil palm and lower fresh fruit bunch production. The damage can reached 80-100% even cause the death of the plant (Yulianti, 2001). Biopesticide and biofungiside CHIPS can minimize Ganoderma infection because it contain antagonist agent that can control the growth and the spread of Ganoderma.

#### 4. Conclusion

It showed that MOAF organic fertilizer, biopesticide, and biofungiside CHIPS are a solution for palm oil plantation intensification, with high productivity, it can be a solution in p reventing functional shifting in primary forest to be oil palm plantation. Increase in production that is 30% higher than non-organic fertilizer is proven in this study.

#### References

- Adiwiganda, R. (2007). Land Management and Oil Palm Fertilization. In S. Mangoensoekarjo (Ed.), *Soil Management and Fertilizing of Estate Crops*. Yogyakarta: Universitas Gadjah Mada Press.
- Anonymous. (2014). Retrieved from https://kemenperin.go.id/artikel/494/prospect-and-problem-industry-palmoil
- Dirjenbun. (2014). Statistics Indonesian Plantations 2013-2015. Jakarta: Directoral Plantation General.
- Dirjenbun. (2015). *Statistics of Indonesian Oil Palm Plantations 2014-2016*. Director Genenral of the Agriculture Ministry of Agriculture, Jakarta.
- Dirjenbun. (2018). Indonesian Oil Palm Plantation Statistics, 2015-2017. Director Genenral of the Agriculture Ministry of Agriculture, Jakarta.
- Elisabeth, D. W., Muji, S., & Ninuk, H. (2014). *Effect of Administration Various Organic Material Compositions* on Plant Growth and Yield. Brawijaya University.
- FAO. (1994). Standards for Organic Fertilizer. Organic Recycling in Asia and the Pacific (RAPA 10:86).
- FAOSTAT. (2015). Food and Agriculture Organization of the United Nations, Rome.
- Gingold, B. (2012). Working Paper: Guidelines to Identify degraded Land for Environmentally Friendly Oil Palm Cultivation. World Research Institute.
- Goenadi, D. H. (2010). A New Fertilizing Paradigm for Innovative Agricultural Breakthroughs. *Proceeding of the National Seminar on Fertilization Technology* (pp. 45-56). Sembawa Plantation Research Center, Palembang.
- Goh, K. J. (2005). Fertilizer Recommendation Systems for Oil Palm: Estimating the fertilizer rates. Proceedings of MOSTA Best Practices Workshops 2004: Agronomy and Crop Management, March to August 2004 (pp. 235-268).
- Greenland, C., & Szaboles, D. J. I. (1994). Soil resilience and Sustainable Land Use. CAB International, Wallingford, UK.
- Greenland, D. J. (1994). Soil Resilience and Sustainable Land Use. CAB International, Wallingford, UK.
- Leszczynska, D., & Malina, J. K. (2011). Effect of Organic Matter from Variuos Sources on Yield and Quality of Plant on Soils Contaminated with Heavy Metals. J. Ecol. Chem. Engineering, 18, 501-207.
- Mawardi. (2012). The Model of Rural Agricultural Development Through Innovation in the west Pasaman District. Final Assessment Report, West Sumatra Agricultural Technology Assessment Centre, Ministry of Agriculture.
- Ng, S. K. (1977). Review of Oil Palm Nutrition and Manuring-Scope For Greater Economy In Fertilizer Usage. In D. A. Earp & W. Newall (Eds.), *International Develaopments in Palm Oil: Proceeding of the Malaysian International Agricultural Oil Palm Conference*, 14-17 June 1976 (pp. 209-233). Kuala Lumpur: The Incorporated Society of Planters.
- Novizan, Ir. (2001). Effective Fertilizing Instructions. Depok: Agromedia Pustaka.
- Ollivier, J., Flori, A., Cochard, B., Amblard, P., Turnbull, N., Syahputra, I., ... Gasselin, D. T. (2017). Genetic variation in nutrient uptake and nutrient use efficiency of oil palm. *Journal of Plant Nutrition*, 40(3), 558-573. https://doi.org/10.1080/01904167.2016.1262415
- Pahan, I. (2008). Complete Palm Oil Guide (Management of Upstream to downstream Agribusiness). Jakarta: Penabar Swadaya.
- Pittmann, A. M. (2013). NASA Satellite Data Used to Study the Impact of Oil Palm Expansion Across Indonesia Borneo. *The Earth Observer*, 25(5), 12-16.
- Prayitno, S. D. (2008). Productivity Oil Palm (*Elaeis guineensis* Jacq.) Fertilized With Empty Fruit Bunches and Palm Oil Mill Effgluent. *Agricultural Science*, 15, 37-48.
- Ruhnayat, A. (2007). Determination of the Basic Needs of Constituents for Plant Growth. Bul. Litro., 18, 49
- Sunarko. (2012). Build Mini Oil Palm Plantations on 2 Hectares of Land. Agromedia Pustaka, Jakarta, Indonesia.
- Susanto, A. (2002). Study on the Biological Control of Ganoderma sboninense Pat. Which Causes Rot of Oil Palm Stem Rot. Bogor Agricultural Institute, Indonesia.

- Susanto, A. (2005). Enchancing Biological Control of Basal Stem Root Disease (*Ganoderma boninense*) In Oil Palm Plantations. *Mycoparhologia*, 159(1), 153-157. https://doi.org/10.1007/s11046-004-4438-0
- Swift, M. J., & Woomer, P. L. (1993). Organic Matter and The Sustainability of Agriculture systems: Definition and measurement. In K. Mulongoy & R. Merckx (Eds.), Soil Organic Matter Dynamics and Sustainability of Tropical Agriculture (pp. 1-8). John Wiley & Sons, New York.
- Tarigan, S. P. (2013). A Study of The Effectiveness of Fertilizers on the Produktivity of Oil Palm (Elaeis guineensis Jacq.) in The Wake Garden of Afdeling II. PT. Sucfin, Indonesia.
- Ugiana, P. G. (2016). Learn Data Processing with SPSS, MINITAB, R, Microsoft Excel, EVIEWS, LISREL, AMOS, and SMARTPLS (p. 133). Medan: USU Press.
- Wigena, I. G. P. (2009). Model of Processing Sustainable Palm Oil Palm Plantations (Case Study in PTPN V Sei Pagar's PIR-Trans Plantation, Kampar Regency, Riau Province). Bogor Agricultural University, Bogor, Indonesia.
- Winarna, S. (2009). *Efforts to Increase fertilizer Efficiency in Oil Palm Plants.Proceeding* (p. 177). Palm Oil Technical Meeting 2009, Jakarta, Indonesia.
- Woittiez, L. S., van Wijk, M. T., Slingerland, M., van Noordwijk, M., & Giller, K. E. (2017). Yield gaps in oil palm: A quantitative review of contributing factors. *European Journal of Agronomy*, 83, 57-77. https://doi.org/10.1016/j.eja.2016.11.002
- World Bank. (2010). Environmental, Economic and Social Impacts of Oil Palm in Indonesia: A Synthesis of Opportunities and Challenges. World Bank, Jakarta, Indonesia.
- Yulianti, S. (2001). Utiilization Mikoriza Vascular Arbuskular dan Gliocladium Fimbriatum for Controlling Stem Rot Disease (Ganoderma boninense Pat.) on Palm Oil. Bogor Agricultural Institute, Indonesia.

#### Copyrights

Copyright for this article is retained by the author(s), with first publication rights granted to the journal.

This is an open-access article distributed under the terms and conditions of the Creative Commons Attribution license (http://creativecommons.org/licenses/by/4.0/).